A £ 0 & AFE

2 &

2024-12-30 14:17:24

Al A

SA AL
M YU R (DDE AL /LT - 21gs])
Rl TLHEQEIIR ORRAID APE Ofl (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
rafain; 25,318,900 29,995,143 AN\4,676,243
N 1,753,000
== 325,300
[Ea 23,240,600
LT X2 (SSEMRHN /THEHATY - 21E2]) 8,800 8,800 0
T SO QEE AR D ARSI Ol 8,800 8,800 0
AL (LRFAH]) 8,800 8,800 0
201 et23| 4,000 4,000 0
01 AtR2t2|HI 4,000 4,000 0
OMEgs =8 & NS E2=ES 7
4,000,0002 4,000
203 =] 4,800 4,800
M EASHLRFAH 4,800 4,800
OfA2E Z2=&HI(3021015t)
400,000& 1290 2 4,800
otd FHIAI (sEHEA/ =Y - &) 1,023,716 5,462,822 A4,439,106
otd HHIAMY 1,023,716 5,462,822 A4,439,106
0HE HHIAF (M EHALS) 1,007,240 5,449,322 A4,442,082
401 Al HIZ S 0HHI 1,007,240 5,449,322 N4,442,082
01 AlZ8| 1,007,240 5,449,322 N4,442,082
O3S Aot ALY
807,240,000 * 14 2 807,240
OHS Aotd HHIA
200,000,000 *10H 2 200,000
Agotd 72l 13,500 13,500
101 @1A4H| 13,500 13,500
04 JIZtN22 NS 2+ 13,500 13,500
OXlgsotd FX2el JI2HZ2NS 2
150,000 x6& 15 13,500
20t ZHIAF (KEAI) 2,976 0 2,976
201 2egh=3| 2,976 2,976
2 35244l 2,976 2,976
OZ40td ADIEEAIFD| ML Stz
66,0003 *12IH 2 +30H 2 2,376
O2otd ANEAFI| &J|es
50,0003+ 12043 600
EHE AL (sHHLHA/ =Y - 5F) 300,000 300,000 0
EIR”E 2t 300,000 300,000 0
ol ElNE =4 300,000 300,000 0
401 AIZHIZ SO 300,000 300,000 0
01 Al&H| 300,000 300,000 0
Odtd EHE =4 & A&
150,000,000 *29H 2 300,000
Mol & MO (SSEMLOHA /THHHE T - elekel) 3,086,866 8,492,038 A5,405,172




SA: AT
3 ol & AU (SSEMKL A /THEHLT - 2129])
Rl Mo E X+ Zol EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Xl 1,753,000
=S 175,300
s 1,158,566
Mo & X+ &bl 3,077,9% 8,483,168 Nb,405,172
N 1,753,000
= 175,300
Ea 1,149,69%6
Mool 2k 22 & (KHAl) 73,99% 73,168 828
101 @1A4H| 8,024 7,69 328
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